GEAR-WORM REDUCER SERIES

MODEL : AS087

©210

194

AR~ Input

ATIERE
Input Flange

VNVAL
Input Shaft

368

< 225

e
007
(7

340
4-M16X2.0
Fﬂ— deep30
H‘-"‘qlll

)

@gﬂg : :}

135

] XVIEW.

LIT
Eﬂ ] A3
H

omﬁ%
NN\

Ll
120
il

Bl

1101 110

8-M16X2.0
deep30

S
< % @ A4

Input Shaft
A8
340 B1
B2
B3
B5
-
D
) B, @ BG
@

unit: mm

2.2kW
37 kW 31.3 M12x1.75 159 232
5.5 kW
7.5 kW 77 41.3 10 38 265 230 M12x1.75 300 164 65 55 4 10 38
11 kW 112 453 12 42 300 250 M16x2.0 350 164 65 55 4 10 @38

C13



aspAL
Output Shaft

RIEE

Torque arm

it
Flange

250

==

Hollow Output Shaft

»60

6 B L

<
©.

®95

thZEH 8

o

18

28

©60

Solid Output Shaft

BOH

14
,@r
N © ol vﬁ:\\\
g s |~ oS
D
0 |
46 q)eﬁ
5
<k
 §

%5 GEAR-WORM REDUCER SERIES

20 208 5.34 351 347 522 213 712 1.56 1044 1.06
30 313 4.09 527 2.43 783 1.63 1068 1.2 1567 0.81
40 47 3.38 702 2 1044 1.35 1424 0.99 20
45 480 2.73 808 1.62 1202 1.09 1639 0.79 2404 0.54
60 641 2.26 1078 1.34 1603 0.9 2186 0.66
80 835 1.75 1405 1.04 2089 07 2849 0.51
90 864 1.6 1454 0.95 2161 0.64
100 840 1.21 1413 0.72 2101 0.48
120 1152 1.32 1938 0.78 2881 0.52
140 (141) 1260 0.91 2120 0.54
160 1479 1.01 2488 0.6
180 1534 0.74
200 1681 074
240 2046 0.6
&LIMING Cl4



